M = O & At Al A
AC =4 1 3 LRSI JIHARA
I KAl
IIOMFO*DIUP?’“( ARl - ALK/ AHRE - DEF))
AHStE| S B AT AT (crol: zie)
SA BB SR(E) - HRAY - BES o J| & o HimE2
2al 56,691,744 39,358,995 17,332,749
= 0 50,000 250,000
s 38,424 71,898 N33,474
== 1,348,437 1,269,658 78,779
Al 55,304,883 37,967,439 17,337,444
KNS AAD [ BIRAF (A - SAILLHHX/ADEE - DEF}) 1,489,800 1,501,800 A12,000
== 429,300 429,300 0
Al 1,060,500 1,072,500 A12,000
Atsre) | =8 RIRAAMS 1,489,800 1,501,800 A12,000
(o= 429,300 429,300 0
Al 1,060,500 1,072,500 A12,000
ZEAMESEDI=HEH HIIHEEH 0 12,000 212,000
401 AEHIZL O] 0 12,000 212,000
01 AI&HI 0 12,000 212,000
OBSATHSSED ISHE HIHEEZ(S SN A2t
323 03 0 12,000 212,000
FHESESH (A - SAINLLHUEKXI/AMHEE - DEF}) 4,357,682 4,179,227 178,455
= 0 50,000 250,000
s 38,424 71,898 A33,474
(o= 254,137 175,358 78,779
Al 4,065, 121 3,881,971 183,150
g4 2 AA 4,154,330 3,975,875 178,455
= 0 50,000 250,000
s 38,424 71,898 N33,474
== 226,137 147,358 78,779
Al 3,889,769 3,706,619 183,150
(=) ZASEFEMHA20E AL X2 XIS A 85,689 117,460 A31,771
s 37,633 57,880 A20,247
== 14,417 17,874 A3,457
Al 33,639 41,706 A\8,067
308 AtXISHMS0I& 85,689 117,460 231,771
s 37,633 57,880 A20,247
== 14,417 17,874 A3,457
Al 33,639 41,706 8,067
13 SO 2SOCHEHE & X 2[ELAIE ] 85,689 117,460 A31,771
OZASCFEMI20IE AL X2 KA
ZA 85,689,000 85,689 117,460 A31,771
s 37,633 57,880 A20,247
== 14,417 17,874 N3,457
Al 33,639 41,706 8,067
(2)EAIILC RN 20 H L X2 KR A 3,191 28,965 N5, 774
s 791 14,018 A13,227
== 720 4,484 N3,764




A JIgXEA
M NLLMELSH A - SAISLAHU X/ ASRE - DTS

gelr JIgsd & X3 CEEEN
SA - B G(3) - HRAY - BES Ofl Aot )l 3o {ImE=ST
Al 1,680 10,463 A8,783
308 AtXIHHMSO0I& 3,191 28,965 N25, 774
s 791 14,018 A13,227
= 720 4,484 A3,764
Al 1,680 10,463 A\8,783
13 B2 SOCHEHE A E 2 ALY 3,191 28,965 A5, 774
OSSR Z0rE L K| KA
AA 3,191,000 3,191 28,965 NP5, 774
s 791 14,018 A13,227
= 720 4,484 A3,764
Al 1,680 10,463 A\8,783
(2B IP BIZ2XI&AA 0 100,000 100,000
= 0 50,000 250,000
Al 0 50,000 A50,000
307 212t01™ 0 100,000 100,000
= 0 50,000 250,000
Al 0 50,000 A50,000
02 SIHBAANHEE 0 100,000 100,000
OZA0|g P HIZXIZ AF(HISAY B!
"SAINLIPHIZXIZAIG (SOIRERIR) "2 2)
AN 02 0 100,000 100,000
= 0 50,000 A50,000
Al 0 50,000 250,000
EAILIPUIZ2 XA (IR EXIRA) 50,000 0 50,000
307 212t01 & 50,000 0 50,000
02 QIRHBAIAMHE R 50,000 0 50,000
OZ2J I IPHIZXIAAI (MISAL B!
"(2)BAIY 1P HIRXIRA"0IA)
50,000, 00021+ 14! 50,000 0 50,000
() E=ES=2HUTETERIMNLASHRIZ A 286,000 0 286,000
< 86,000 0 86,000
Al 200,000 0 200,000
307 212t01™ 286,000 0 286,000
= 86,000 0 86,000
Al 200,000 0 200,000
02 QIRHBAIANHE R 286,000 0 286,000
OZ==28d 2 484 SEXZAY
286,000,000 *1A! 286,000 0 286,000
< 86,000 0 86,000
Al 200,000 0 200,000
MR R AN L2E (S EL XS IHL/AH ) 49,269,000 32,104,000 17,165,000
gl JNRE Gl 49,269,000 32,104,000 17,165,000
HIH S =IO SR ZA IR 96,000 76,000 20,000
201 LE23H| 88,000 68,000 20,000
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JlgXaa

I AMACKISKLRH(DELXI SN/ AAEHR])
Chel: AHERL] 2 (Crol: X 21)
2A - HH - H(SH) - MRAIY - BES Oil AboH ol Al Hlns2
01 AFR22IHI 58,000 38,000 20,000
O HEHII0IZ ZOIMET THS 9I5t BE2E
ol
22X 25 Q00K *2Z=+700H 35,000 15,000 20,000
HOHI 02 2IHARIEHT| XA 49,173,000 32,028,000 17,145,000
403 XHXISHHISXH=20| ™ 49,173,000 32,028,000 17,145,000
02 2| 2ASOICHEH X2 E QI EFALIH] 49,173,000 32,028,000 17,145,000
OYF HOHI0Z 2O RAANY
ZA 49,173,000,0002 49,173,000 32,028,000 17,145,000
WEESOISXHA) (A - SAI LUK/ AARES - 1,204 0 1,204
i)
EESINE] 1,204 0 1,204
RSN 1,204 0 1,204
802 BHEt=D|E 1,204 0 1,294
02 Al - CHIBX3EHE2 1,204 0 1,294
02023 = 1,204 0 1,204
—AYATAY S L AMS AFAY
1,040 %14l 2 0 2
—ZEATHAY S L FMS LSAIH (0l
5,2002% 14! 6 0 6
—XI HIoZAY |4 2 B ASALY
26,8804 14! 27 0 27
=X HIK A S5 L B AFIAIH (0l
50, 780 % 1Al 51 0 51
—CSHEATA SAGIAIY
362, 4002414l 363 0 363
—LSYSACA SASIAIY(0IXH)
6202414 1 0 1
—SIEAR SHFIAIY
604,860 14l 605 0 605
—SEHS® SAHFAIL(0IAL)
1,500 % 14! 2 0 2
—ZA0| 2 2]H| XA
101, 1002414 102 0 102
—Z2JIe 22U 274l XA (0IXH)
68,7502 % 1Al 7 0 7
—Z2 =Y AUOIA EFAINMALY
121,850 14 122 0 199
—F2 =Y AFACHA SN AL (OIXE)
5002%14] 1 0 1
—A720|e SHIMAAI
3,480 %14l 4 0 4
— A2 SZIHS AL (OIX})
12024 %14l 1 0 1




